Macroeconomics

Test 2.

Due:  Friday, February 19, 2010 (date changed  from syllabus) 
Please answer the following two questions.
1.  In the context of the recession that officially began in the U.S. late in 2007, examine the fiscal policies of the Obama administration in 2009-2010, specifically the stimulus package and the 2010 budget proposals.  In your answer, examine these policies in the context of the underlying economy and discuss whether you believe the stimulus package and subsequent budget and fiscal policy have been sufficient to prevent a depression or end a recession.  Are there any problems you see on either the spending side or the tax side? Examine the impact of this fiscal and budget policy on unemployment and employment, output, distribution of income, and State spending and budgets. In your answer, also analyze the growing federal government deficit and debt and whether you believe they should be reduced now or in the future, why? Are the Obama policies  Keynesian policies? What would you have proposed? Why?  
Some sources are included below.

Note: Your answer should be about one and a half to two pages double-spaced,  typed. You are not expected to include a lot of detail about the actual changes in spending and taxes.  

http://krugman.blogs.nytimes.com/2010/01/25/of-fate-and-fumbles/?scp=5&sq=Paul%20Krugman%20Obama%20Fiscal%20policy&st=cse
http://www.barackobama.com/pdf/issues/fiscal/ObamaPolicy_Fiscal.pdf
http://www.msnbc.msn.com/id/29231790/
2. The Fiscal Multiplier.

A. Define and explain the multiplier. 

B. On what does its size depend on?

C. If C = $1(trillion)  + 2/3 Y, where C = consumption in trillions, Y = National income or output in $trillions. I = $2 trillion (I is investment)

i. What is the magnitude of the multiplier in this example?

ii. What is the equilibrium level of national income and output?

iii. If government spending is now added in to this economy at $2 (trillion),  how much will national income and output increase by?  What will the new equilibrium level of output be?

iv. If the full-employment level of output were $16.5 (trillion), what is the total level of government                          spending that would be necessary  to attain full-employment (assume I =2)?  

v. Assume we began at the full-employment level of output and income ($16.5), part 4 above, and that investment fell by $1 (trillion), how much would output and national income change by and in what direction?  

Hint: (You don’t need to do the calculation in trillions, 12 zeros. Just put in trillion  after you compute your answers.)

